Name:

Sr: 30082023-3185

MATHS WORKSHEET [ Shrs @

August 30, 2023 GEMERATOR GCSES
1) 13- (-63) 2) Find perimeter of 3) Find perimeter of
rectangle having b rectangle having
sidesa=68in sidesa="73ft
a andb=66in a and b = 66 ft
Answer: Answer: Answer:
4) 06:05 am To 08:05 am 5) 207, - 18y 6) 3 Sg-6 1,
Answer: Answer: Answer:

7) A number wasshared intheratio 7:2. || 8) 1076 +201, 9) A number is chosen at random from 1
The smaller share was 6. What was to 25. Find the probability of selecting
the larger amount? odd number.

Answer: Answer: Answer:

10) 20+ 63 11) Find area of square 12) 59.21+ 3.1

having each side (s)
s equals 89 m
s
Answer: Answer: Answer:
13) 5, +1%,, 14)  09:52am To 02:59 pm 15) 62x4+4
Answer: Answer: Answer:
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16) 18x 6 17) Find perimeter of 18) Find area of square
sgquare having each having each side (s)
s side (s) equals 99 cm s equals 9 ft
s 5
Answer: Answer: Answer:
19) 74 x 60 20) A number was shared in theratio 21) Convert the following improper
1:2. The smaller share was 22. What fraction 32/3 +23 4 into a mixed
was the larger amount? number
Answer: Answer: Answer:
22) 37.95+23 23) Find area of triangle || 24) 5%, + 2%
a p h=24cm,a=60
cm,
c b=64cm,c=68
cm
Answer: Answer: Answer:
25) (-36) + (-92) 26) 31+ 22y 27) 65 - (-58)
Answer: Answer: Answer:
28) A number was shared in theratio 29) Find area of triangle 30) Find perimeter of
5:9. The larger share was 18. What a p h=10ft a=31ft, a p triangle
was the smaller amount? b =89 ft, c =98 ft h=58,a=66m,
c c b=97m, c=100m
Answer: Answer: Answer:
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31) Find area of 32) Round 26.628 to 1 decimal places. 33) 11.5x5.9
b rectangle having
sidesa=52 ft
a and b =441t
Answer: Answer: Answer:
34) Find perimeter of 35) Find area of 36) 65 - (-31)
b rectangle having triangle
sidesa=60cm b b a=9%cm,b=97
a andb=58cm cm
E
Answer: Answer: Answer:
37)  52+13+15 38) 1874 x 8, 39) 4 Y.-6 6,
Answer: Answer: Answer:
12/ .8
40) lg+°l19
Answer:
Total: / 40
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1) 76
8) 117/,

15)

22) 165

29) 445ft
36) 96
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2) 268in
9) 12/25
16) 108
23) 768cm
30) 263m
37)53

3) 278ft
10) 83
17) 396cm
24) 14 g
31) 2288ft
38) 16

MATHS WORK

4) 02 Hours 00 Mins
11) 7921m

18) 81ft

25) -128

32) 26.6

39) 4%/

Answers:

0,
5) 8%,
12) 19.1
19) 4440
11,
26) 11,
33) 67.85
3,
40) 23/,

6)57/g
13) 271,
20) 44

27) 123
34) 236cm
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14) 05 Hours 07 Mins
21) 6%,

28) 10

35) 3826.1002339196cm
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